PARTS LIST
ITEM| QTY [ PART NO. PART DESCRIPTION LENGTH | UNITWT. | NETWT.
2 [ 2 DCP 1/2" THICK, 5-3/4" CNTER TO CENTER CLAMP HALF | 8 1/8in 2.36 4.72
P 4 | 4 | G58R10 5/8" x 10" THREADED ROD (HDG.) 0.87 3.48
s TS 5 | 8 G58FW 5/8" HDG USS FLATWASHER 1/8in 0.07 0.56
/, \\ BSF30 OR BSF35 6 | 8 G58LW 5/8" HDG LOCKWASHER 0.03 0.21
SOLD SEPARATELY 7 | 8 | GsaNuT 5/8" HDG HEAVY 2H HEX NUT 0.13 1.04
TOTALWT.#[  10.02

TOLERANCE NOTES F—— S T

O, VNLES3 THESE NOTED AR PRO s, it o
, A _ : Plymouth, IN

DRILLED AND GAS CUT HOLES (£ 0.030") - NO CONING OF HOLES MOUNTING HARDWARE - FORMED STYLE 1-888-753-7446  salem, Ok

LASER CUT EDGES AND HOLES (# 0.070") - NO CONING OF HOLES Dallas, TX

A valmontv.w Tampa, FL
BENDS AND ANGLES ARE 1 1/2 DEGREE
ALL OTHER MACHINING (£ 0.030") CPD NO. DRAWN BY ENG. APPROVAL PART NO. IR
ALL OTHER ASSEMBLY (£ 0.060°) CEK  8/9/2019 BSMH-DCP o3z
PROPRIETARY NOTE: CLASS| SUB | DRAWING USAGE CHECKED BY DWG. NO. m ﬂ
THE ID IN THIS DRAWING VALMONT -
INDUSTRIES AND GONSIDERED ATRADE SECRET. ANY o | 81|01 CUSTOMER |BMC  8/26/2019 BSMH-DCP




